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1.

4-Lesson 12

Fill in'the missing numbers to match the pictute. Write the matching number bond.

12+ 20 = 32

12 24

b.

SO0
eleiele

39

29 + i = 39

258 16

 1ten 2 ones + 2tens = 3tens 2 ones. The
digit in the tens place changes because | add
2 tens. The ones stay the same.

1ten more than2 tens is 3 tens. That's why there

- isa 3 in the tens place. There are still 9 ones,

Draw using quick teps and ones. Complete the number bond and the urmber sentence,

.

tens | ones fens | ones

2 3 i1 0

23 + 16 = 33

b.

{ tens | ores Yens | ones

+ 2 0

TROC

The number bond shows how | change 23
to make 33, ladd 1 ten.
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If 34 is the whole and 14 is one part, | can

add 2 tens to make 34. 2 tensis the
sarde as 20, 14 plus 20 eqiials 34.

Addtensto g two-digit sumber.

21




